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1. Fill in the missing digits
to show the fraction that is shaded.
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2. What fraction of the shape
below is not shaded?

3. Write the fraction of each set of
objects that are shaded:
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1. Calculate these fractions:

30f 12=
1/5 of 20
1/s of 24
1h30f 24 =

Now try these:
A0f 12=
2g0f 20 =
Yspf24=
2d0f24=

2. Aisha had 30 marbles. She lost 'a
of them. How many does she have
left?

3. Roman had £40. He gave ¥ of it
g

How much did he give away?

How much did he have left?

1. Josh has 24 sweets.
On Monday, he gave '/ of the total
to his mum and he also ate s of the
total.

On Tuesday, he ate 2 of the

remaining sweets.

How many sweets did he have left

2. This is ¥s of a pack of marbles.
How many would make up a whole





